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Rotational Kinematics 
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 :�رع ا
�اوي�#�9، وا
4� ا8زا �، ا
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	 ا����ور�� ، م)&' �r �&%�ك #" دا �ة 
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، اI ا�-� .�دة ��J��2 وح'ة )وح'ة �Cل .KL وح'ة �Cل(I وح'ة ��J ) b1( #" ا���2د�Iθ 9حH أن ا�@او�9 
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)10.2(ش  
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9�� .ه3Q ا�
���ت و�
+ �L%�آ9 ا�'ورا
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 ":ا�%�آ9 ا�'ورا��9"و" ا�%�آ9 ا�\��9"م�8ر�9 ب�+ آ���ت 
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���D "���4د�ت ا
3#آ
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$��تا
 

 )θ  ا��&?��ا����A(  :ا
$���ت ا
�او��           )S  ا��&?��ا����A( :ا
���Dا
$���ت               
 
         I،H9 ��_ م��&%�ك ا��-�� ب� ح#�SO�%ا�� KL. →−−−← ��8ا� ���
�ن � r  9 �' دار زاو�θ  
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2
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